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if ( x > 4 ) ;	
	System.out.println(“x is ” + x);	

if ( x > 4 ) ;	
	System.out.println(“x is ” + x);	

Object
 Object


• Has public interface that 
others can use 

• Hides state from others


• Can see and manipulate 
object’s internals


public class ClassName {	

   // --------- INSTANCE VARIABLES ---------------	
   // define variables that represent object’s state	
	private int inst_var;	

	// --------- CONSTRUCTORS ---------------	
	public ClassName() {	
	 	// initialize data structures	
	}	

	// ----------- METHODS ------------	
	public int getInfo() {	
	 	return inst_var;	
	}	

}	

Note:  instance variables 
are private and 
methods are public	
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overload.py	

class Chicken {	
	private String name = “”;	
	. . .	

}	

class Employee {	
	private int id = assignID();	
	. . .	
	private static int assignID() {	
	 	int r = nextID;	
	 	nextID++;	
	 	return r;	
	}	

}	

More on static later… 
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private final String dbname = “invoices”;	
private final String id;	
…	
public MyObject( String id ) {	

	this.id = id;	
} 

Chicken( int height, double weight ) {	
	this( “Bubba”, height, weight);	

}	

Chicken( int height, double weight ) {	
	this();	
	this.height = height;	
	this.weight = weight;	

}	

Not in example 
code online  Method signature 
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Discussion: Benefits and costs of garbage collection? 



9/21/09 

5 

elements[size] = null;	
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How would we use the nextID field to create unique IDs? 

public class Student {	
	private int id;	
	private static int nextID = 1;	
	. . . 	

}	
public class Student {	

	private static int nextID = 1;	
	private int id = assignID();	

	private static int assignID() {	
	 	int r = nextID;	
	 	nextID++;	
	 	return r;	
	}	

…	

public class Converter {	
	public static final double CM2IN = 2.54;	
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• String toUpperCase() 	
 Converts all of the characters in this String to 

upper case  
• static String valueOf(boolean b)	

 Returns the string representation of the boolean 
argument 

• Discussion: Why can the second method be 
static? 


